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Calculus Practice: Using Differentiation to Find a Tangent 3a

For each problem, find the points where the tangent line to the function is horizontal. Indicate

if no horizontal tangent line exists.
2
X
1) y=—">7>--2x-4
) Y=—"

A) (-2,-2)
B) No horizontal tangent line exits.

5
o)

5
o (]

3) f(x)=-2x>-8x-3
A) (0,-3)
B) (-2,5)
C) (-1.3)
D) No horizontal tangent line exits.

5) y=—
)y x> +5

5
o
5
o o)

C) No horizontal tangent line exits.
D) (0,-1)

7) y=x>—4x* +5x -4

A) (19 _2)7 (27 _2)
B) No horizontal tangent line exits.

0) (1,-2), (3, —5—8)

3 27
D) (0, —4)
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2

X 3
2) y=——7"+X—-—
)Y 5 5

A) (-1,-3)
B) No horizontal tangent line exits.

3
o)

D) (1,-1)
X2 3
4) flx)=— —x+—
) 1) =5 s
A) (1,1)
B) No horizontal tangent line exits.
0 (-1,3)

3
o 02)

6) y=1In (-x+2)
A) (-1,1n 3)
B) (0,1n 2)
C) (-5,1n7)
D) No horizontal tangent line exits.

X

2
A) (-1, —
I

1
B) |-2,—
23
C) No horizontal tangent line exits.
D) (0, 1)

-1-
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2
X

) f(x)=_3x—3

4
o

B) (0, 0), (2, —%)

C) No horizontal tangent line exits.

1
D) (‘1’3)

2
X
11) f(x)= 5
1
A) —1,—2)

) (—1, —i), (0,0)

D) No horizontal tangent line exits.

13) y=—(2x+8)’
A) (-4,0)
B) (3,—V14)
0 (-1,-6)

D) No horizontal tangent line exits.

2
15) y=(x-4)’

A) (1, a)

B) No horizontal tangent line exits.

) (=1, ~/36)
D) (2,0)

17) y =2sec (x); [, 7]
A) (==, 1),(0,-1), (r, 1)
B) (-=, -2), (0, 2), (x, -2)

C) No horizontal tangent line exits.

o (325

19) f(x)=—(2x— 8)§
A) (0,-4)

B) No horizontal tangent line exits.

o) (2, 22)
D) (1,-+/36)
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D) No horizontal tangent line exits.

12) y=—x>+4x* -2

A) (-2,22),(1,1)
B) No horizontal tangent line exits.
C) (_1> 3)7 (07 _2)

8 202
D) (0,-2), (E’ ?)

14) y=x>-3x* +4
A) No horizontal tangent line exits.

B) (-1,0),(1,2)
C) (-2,-16), (-1, 0)
D) (0, 4), (2, 0)

16) f(x)=x>—-3x>+3
A) (0,3),(1,1)

B) (0,3),(2,-1)

C) (-2,-17), (0, 3)

D) No horizontal tangent line exits.

3
x> — 25
A) No horizontal tangent line exits.

B) 1,1)

0) (-2, l)

18) f(x)=—

o o.3]

20) y=sin (x); [~m, 7]
A) No horizontal tangent line exits.

» (55

C) (-r, -1),(0, 1), (x, -1)

- D) (—TE, —2), (0, 2), (n, —2)
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Calculus Practice: Using Differentiation to Find a Tangent 3a

For each problem, find the points where the tangent line to the function is horizontal. Indicate

if no horizontal tangent line exists.

2

X
1) y=—"—-2x—4
)Y 5

*A) (-2, -2)

B) No horizontal tangent line exits.

5
C) (—3, —5)

5
D) (—1, —5)

3) f(x)=-2x>-8x-3
A) (0,-3)

*B) (-2, 5)
C) (-1,3)

D) No horizontal tangent line exits.

5) y=—
)y x> +5

5
o
5
o o)

C) No horizontal tangent line exits.
“D) (0,-1)

7) y=x>—4x* +5x -4

A) (19 _2)7 (27 _2)
B) No horizontal tangent line exits.

«C) (1,-2). (E, _5_8)

3 27
D) (0, —4)
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2

X 3
2) y=——7"+X—-—
)Y 5 5

A) (-1,-3)
B) No horizontal tangent line exits.

3
o)

*D) (1,-1)

x> 3
4 f(x)= _x42
) =X

“A) (1,1)
B) No horizontal tangent line exits.
O (-1,3)

3
o 02)

6) y=1In (-x+2)
A) (-1,1n 3)
B) (0,1n 2)
C) (-5,1n7)
*D) No horizontal tangent line exits.

X
2
A) (-1, —
I
1
B) |-2,—
23
*C) No horizontal tangent line exits.
D) (0, 1)

-1-
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2
X

) f(x)=_3x—3

4
o

*B) (0, 0), (2, —%)

C) No horizontal tangent line exits.

1
D) (‘1’3)

2
X
11) f(x)_2X_2
1
A) —1,—2)

) (—1, —i), (0,0)

D) No horizontal tangent line exits.
1

13) y=—(2x+8)’
A) (-4,0)
B) (3,—V14)
0 (-1,-6)

*D) No horizontal tangent line exits.
2

15) y=(2x-4)’
A) (1, a)
*B) No horizontal tangent line exits.
0) (-1, V/36)
D) (2,0)
17) y =2sec (x); [, 7]
A) (==, 1),(0,-1), (r, 1)

*B) (_TC, _2)3 (05 2)7 (na _2)
C) No horizontal tangent line exits.

o (325

19) f(x)=—(2x— 8)§

A) (0,-4)
*B) No horizontal tangent line exits.

o) (2, 22)
D) (1,-+/36)
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*D) No horizontal tangent line exits.

12) y=—x>+4x* -2

A) (-2,22),(1,1)
B) No horizontal tangent line exits.

C) (-1,3), (0, -2)

8 202
» 02, 37)

14) y=x>-3x*+4
A) No horizontal tangent line exits.
B) (~1,0),(1,2)
C) (-2,-16), (-1, 0)

*D) (0, 4), (2, 0)

16) f(x)=x>—-3x>+3
A) (0,3),(1,1)

*B) (0, 3), (2, -1)

C) (-2,-17), (0, 3)

D) No horizontal tangent line exits.

3
x> — 25
A) No horizontal tangent line exits.

B) 1,1)

18) f(x)=—

0) (-2, —)

*D) |o, i)

20) y=sin (x); [~m, 7]
A) No horizontal tangent line exits.

STy

) (—71, —1), (0, 1), (n, —1)
- D) (—TE, —2), (0, 2), (n, —2)
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